BodbEIFapy i Rl R

HAHRR2 V%, % F AR
HEDEDTURTES
1 ROHEE L E L s 9. LEEMS LES,
3 1
(1) 2 x 2 = 5%X3 (2) 1L x 2 = T8XxX3
7 4 7 X 4 8 5 8 X5
28 4
15 3
2 8 4
1 2
(3) 2 - 2 = 2x7 (4) 12 - 7 _ X8
_ 14 | amchaHER. baMEER =2
1S lizLcamit=ze,
1 4
5 %
3 2 2
(5) - x0.6 = 1 X & (6) 42 =4 1= Z2XTS
2 XX 10 5 B X T,
o, M. BRO :i [RIDER=H) =4
BL oA FELDHY 10 0.5X0.6=0.3
El. INEOERE
SEIcETEHETE| | 3
7. 5 [0.3] 4
(7)%—+O.3x-% (8) 21.6+410.8=1.8
1 x X5 =21.6+6
B X 3 X6 =27. L) 2
55 [ . } PYBEMDEICHELET,
18 78
25[1 7 ] 27 .6
1 18
5 3 4 4 .
(9) 2 = 5 x5 (1) 6.4~ 2 0.2
_3_13><A‘ . 4_2\4\X7\@\2
NG XX R, ' BUX 20
_ 5 1 — 6. 4—4
6 3 —2. 4
-5 _2 L 2. 4
6 6 2
_ 8 _ 1
a2 KROX—=2I28, BENDH ) LT,




R D rEEIC, (I LTCHELEL £ 9,

(a+b) Xc=aXc+bXc
(a—b) Xc=aXc—bXc

w
N
N—

X
(@)
+
~J
—
[

w

<l /™ / o|-

Y

o |— X

o |—

X

o1|pe

SN
+
Wl

_|_
SIEN

)

_|_
o~ |oo

o1|w

X
orno

X
orno

X
SN




